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EYmlNfEnE EBTEL N (2024F4 8 7)) EEREHEB R

B Fho
o~ A 5 6 7 8 9 10 11 12 1 2 3 4 5~4 8 REt
EIESaE 40 40 40 40 40 40 40 40 40 40 40 40 40
o Ef:d 2,821 2,904 2,981 2,530 3,121 3,157 2,930 3,087 2,866 3,009 3,200 3,041 35,649
BIE 3,151 2,996 3,111 3,152 2,935 3,575 3,119 3,145| 2,875 2,776 3,120 2,628, 36,584
BIARE 3,503 3,562 3,557 3,344 3,505 3,821 3,434 3,553 3,449 3,212 3,621 3,188; 41,749
BIEREE 0.90 0.97 0.96 0.80 1.06 0.88 0.94 0.98 1.00 1.08 1.03 1.16 0.97
16 4t BIAQERE] 0.81 0.82 0.84 0.76 0.89 0.83 0.85 0.87 0.83 0.94 0.88 0.95 0.85
(FTA L) = (1.03) | (1.03) | (0.85) | (1.23) | (1.01) [ (0.93) | (1.05) | (0.93) | (1.05) | (1.06) | (0.95) =
85 EF-3 3,798 3,946| 4,153 3,554| 4,132 4,145 3,910 4,048 3,571 3,743 3,852 3,876 46,729
(BIRE.R55%) BI4E 4,253 4,068 4,232 4,399 3,874 4,173 4,072| 4,075 3,804 3,774 4,150 3,696 48,570
BIARE 4,441 4200 4670 4,387 4,401 4475 4,256 4,351 4,230 3,906 4,4081 4,063 51,790
RTEXTEE 0.89 0.97 0.98 0.81 1.07 0.99 0.96 0.99 0.94 0.99 0.93 1.05 0.96
23 #t BIREREE] 0.86 0.94 0.89 0.81 0.94 0.93 0.92 0.93 0.84 0.96 0.87 0.95 0.90
(FTA L) = (1.04) | (1.05) | (0.86) | (1.16) | (1.00) | 0.94) | (1.04) | 0.88) | (1.05) | (1.03) | (1.01) =
R EF-3 1,169 1,093 1,570 1,361 1,522 1,363 1,608 1,916 1,556 1,636 1,559 1,314 17,667
(Rik.a—92R) Bl 904 1,080 1,400 1,380 1,207 1,424 1,462 1,470 1,420 1,314 1,270 1,171 15,501
BIARE 1,454 1,502 1,550 1,581 1,430 1,310 1,407 1,601 1,366 1,281 1,322 1,008 16,812
BIEEXTLE 1.29 1.01 1.12 0.99 1.26 0.96 1.10 1.30 1.10 1.25 1.23 1.12 1.14
15 #t RIREXE] 0.80 0.73 1.01 0.86 1.06 1.04 1.14 1.20 1.14 1.28 1.18 1.30 1.05
(RTA L) = 0.93) | (1.44) | 0.87) | 1.12) | 0.90) | @.18) | 1.19 | 0.81) | 1.05 | 0.95) | (0.84) =
® LT EE:d 112 134 120 138 143 140 137 154 138 128 150 137! 1,630
IS 140 133 130 131 123 154 163 139 129 137 144 118; 1,641
BIARE 165 155 159 145 133 138 133 138 131 136 142 144! 1,720
BIEREE 0.80 1.01 0.92 1.05 1.16 0.91 0.84 1.11 1.06 0.93 1.04 1.16 0.99
12 #t RIREXE] 0.68 0.86 0.75 0.95 1.07 1.01 1.03 1.11 1.05 0.94 1.05 0.95 0.95
(RTA L) = (1.19) | 0.89) | (1.15) | (1.03) | (0.98) | (0.98) | (1.12) | (0.90) | (0.93) | 1.17) | (0.92) =
HE EF-3 2,006] 2,248 2,282 2,065 2,375 2,305 2,258 2,204 1,868| 2,057 2,253 2,282 26,193
(—RME. 27T S) BI4E 2,274 2,324 2,451 2,335  2,205| 2,451 2,280 2236 2,035 2,124 2,381 2,289 27,393
BIARE 2,030 2,353] 2,332 2,182 2,270 2,334 2,242 2278 2,097 2,085 2,397 2,440 27,041
BIERTEE 0.88 0.97 0.93 0.88 1.08 0.94 0.99 0.99 0.92 0.97 0.95 1.00 0.96
22 # BIRERE] 0.99 0.96 0.98 0.94 1.05 0.99 1.01 0.97 0.89 0.99 0.94 0.94 0.97
(RTA L) = (1.12) | (1.01) | 0.90) | (1.16) | 0.97) | 0.98) | (0.98) | (0.85) | (1.10) | (1.10) § (1.01) =
aE= EE:d 3,389|  4,010| 4,298 3,321 4619 4,478 4350 4,000 2,848 3,167 4,197 3,416 46,093
kS 2,449 3,395 3,679 2,958 3,868| 4,149 3,764 3,847 3,544| 4,355 4,971 4,333 45,311
BIARE 2,943 3,710 3,930 2,739 2,714| 2,985 3,523 3,584| 2,873 3,552 4,327 3,486 40,365
BITEXTEE 1.38 1.18 1.17 1.12 1.19 1.08 1.16 1.04 0.80 0.73 0.84 0.79 1.02
12 #t BIREXEE] 1.15 1.08 1.09 1.21 1.70 1.50 1.24 1.12 0.99 0.89 0.97 0.98 1.14
(ATA L) = (1.18) | 1.07) | .77 | 1.39) | 0.97 | 0.97 | 0.92) | .71 | 1.11) | (1.33) { (0.81) =
AR L4 2,182 2,279 2,421 2,006 2,203 2459 2,249 2,420 1,917 2,131 2,166 2,066 26,588
Bl 2,315 2,353 2,435 2,429 2228 2662 2477 2492 2,170 2,343 2,5241 2,074 28,501
BIRE 2,367 2,450 2,429 2,292 2,393 2,685 2,534 2574 2268 2392 25131 2,273 29,168
BIERTEE 0.94 0.97 0.99 0.83 1.03 0.92 0.91 0.97 0.88 0.91 0.86 1.00 0.93
13 % B4R ERE] 092 0.93 1.00 0.88 0.96 0.92 0.89 0.94 0.84 0.89 0.86 0.91 0.91
(RTA EE) = (1.04) | (1.06) | 0.83) | (1.14) | q.07m | 0.9D) | (1.08) | .79 | q.11) | (1.02) | (0.95) =
Evip L 15,478 16,615 17,824 14,966 18,205| 18,047| 17,443| 17,828| 14,763| 15,871| 17,376] 16,133 200,548
&&t BI4E 15,485| 16,348| 17,438| 16,785| 16,440| 18,588| 17,345| 17,404| 15,977| 16,821| 18,5611 16,308 203,500
BIRE 16,903| 17,932 18,627| 16,671| 16,847| 17,748| 17,529| 18,080| 16,415| 16,564| 18,729] 16,602 208,645
BIEERTEE 1.00 1.02 1.02 0.89 1.11 0.97 1.01 1.02 0.92 0.94 0.94 0.99 0.99
40 #t BIRERE] 092 0.93 0.96 0.90 1.08 1.02 1.00 0.99 0.90 0.96 0.93 0.97 0.96
(RTA L) — 1 Gon | .07 | 084 | (1.22) | 099 | 097 | (.02 | (0.83) | (1.08 | (1.09 | (0.93 =
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CHEfn ] R snE £ ZeE4 N (2024548 7)) M RIGHB R

BGL: FKL-Fho

I A 5 6 7 8 9 10 11 12 1 2 3 4 5~4F Bt
~ EIEad=s 28 28 28 28 28 28 28 28 28 28 28 27 28
= L 1,957 1,967 2,166| 1,968 1,935 2,020 1,862 2,258] 2,021 1,927 1,941 1,896 23,918
FUE:3 2,239 2,219 2,293| 2,400 2,121 2,277 2,300 2,424| 2,538 2,240 2,158 1,956 27,165
IR E 2,042 2211 2,300 2,252| 2,038 2,328 2,329| 2,494 2546| 2,373 25241 2,302 27,740
AIEREE | 0.87 0.89 0.94 0.82 0.91 0.89 0.81 0.93 0.80 0.86 0.90 0.97 0.88
16 %t A< Ext] 0.96 0.89 0.94 0.87 0.95 0.87 0.80 0.91 0.79 0.81 0.77 0.82 0.86
(ATA k) = (1.01) | (1.10) | 0.91) | (0.98) | (1.04) | (092 | 1.21) | (0.90) | (0.95) | (1.01) | (0.98) =
e L 4,836] 4,819| 4,999 4,872| 4,932 5,090 4,775 5,344 5,087 4,882| 4,881 5,062 59,579
I3 4,693| 4,588 4,915 4,940| 4,276 4,880 4,899| 4,946 5247 4,835 5290] 4,815 58,323
IR E 4,765| 4,886| 4,823 4,783 4,667 5067 4,919 5320 55000 4,655 5484 4,592 59,462
AIgExtE | 1.03 1.05 1.02 0.99 1.15 1.04 0.97 1.08 0.97 1.01 0.92 1.05 1.02
12 # AR ExtE] 1.01 0.99 1.04 1.02 1.06 1.00 0.97 1.00 0.92 1.05 0.89 1.10 1.00
(RTA k) = (1.00) | (1.04) | .97 | (10D | (1.03) | (094 | (1.12) | (095 | (0.96) | (1.00) | (1.04) =
L 674 628 692 623 648 652 643 624 644 593 598 572 7,591
TEhL R 660 714 761 752 660 731 706 703 739 628 670 689 8,414
IR E 776 757 796 825 782 766 781 677 785 675 720 677 9,016
BIExEE | 1.02 0.88 0.91 0.83 0.98 0.89 0.91 0.89 0.87 0.94 0.89 0.83 0.90
14 %t A< Ext] 0.87 0.83 0.87 0.76 0.83 0.85 0.82 0.92 0.82 0.88 0.83 0.85 0.84
(RTA k) = 0.93) | (1.10) | (0.90) | (1.04) | (1.01) | (0.98) | (0.97) | (1.03) | (0.92) | (1.01) | (0.96) =
BEE#&t L 452 387 447 456 441 487 511 593 587 557 539 494 5,952
I3 486 462 507 492 451 513 488 593 579 530 574 529 6,203
(Pa. tEEE/R—%)| RIREE 533 498 533 566 561 589 577 625 628 576 551 488 6,726
AR | 0.93 0.84 0.88 0.93 0.98 0.95 1.05 1.00 1.01 1.05 0.94 0.93 0.96
14 %t A< Ext] 0.85 0.78 0.84 0.81 0.79 0.83 0.89 0.95 0.93 0.97 0.98 1.01 0.88
(RTA k) = 0.86) | (1.15) | (1.02) | (0.97) | (1.10) | (1.05) | 1.16) | (099 | (0.95) | (0.97) | (0.92) =
=REA Ef:d 60 78 101 74 86 82 74 71 70 84 84 85 947
FrI7ANBRES) | B 80 91 85 98 83 95 93 87 82 75 87 81 1,036
IR E 108 112 118 94 101 122 112 102 112 96 122 103 1,302
AIEREE | 0.75 0.86 1.19 0.76 1.03 0.86 0.79 0.81 0.84 1.13 0.97 1.05 0.91
7% A< Ext] 0.55 0.70 0.85 0.79 0.85 0.67 0.66 0.69 0.62 0.87 0.69 0.83 0.73
(ATA k) = (1.30) | (1.29) | 0.74) | (1.15) | 0.95) | (0.90) | (0.96) | (0.99) | (1.21) | (1.00) | (1.02) =
MEE L 373 355 419 371 374 387 392 401 369 370 391 408 4,611
GhEs. wEY—4®) | BIE 395 391 413 416 379 404 428 401 410 397 429 403 4,867
AR E 376 396 496 454 436 469 441 447 474 414 465 404 5,272
AIERE | 0.95 0.91 1.01 0.89 0.99 0.96 0.92 1.00 0.90 0.93 0.91 1.01 0.95
11 % Bl ExE]  0.99 0.90 0.84 0.82 0.86 0.83 0.89 0.90 0.78 0.89 0.84 1.01 0.87
(ATA k) = 0.95) | (1.18) | (0.89) | (101 | Q.04 | (.on | Q.02 | (092 | Q.00 | (1.06) | (1.04) =
TR L 8,352] 8,234 8822 8364| 8416] 8719 8257 9,290 8778 8415 8,435 8518 102,599
&5t I3 8,553 8,464| 8974 9,097| 7,970 8901 8915 9,152 9,595 8,704| 9,209] 8,473 106,008
IR E 8,600 8862| 9067 8974 8585 9341 9,160 9,665 10,045 8,789 9,865 8,565 109,516
AR | 0.98 0.97 0.98 0.92 1.06 0.98 0.93 1.02 0.91 0.97 0.92 1.01 0.97
27 #t A< Ext]  0.97 0.93 0.97 0.93 0.98 0.93 0.90 0.96 0.87 0.96 0.85 0.99 0.94
(AT A k) = 0.99) | (1.07) | 0.95) | (1.01) | (1.04) | (095 | 1.13) | (0.94) | (0.96) | (1.00) | (1.01) =
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